6C4 - Solve addition and subtraction multi-step problems in contexts, deciding which operations and methods to use and

why

Cafe

[ Item Price |
Sandwich £ 3.95
Sausage roll £ 2.59
Pizza £ 499
Fudge cake £ 3.25
Lemonade £ 1.30
Milkshake £ 2.50
Hot chocolate £ 1.90

| Water £ 0.80 |

Ali buys a sandwich and a milkshake.
Sam buys a sausage roll and a drink of water.
How much more does Ali pay than Sam?

School Election

(Candidate Votes )

Naomi L

Sam

Max

Eva ?
TOTAL 218 )

Sam got 16 fewer votes than Eva.
Eva got 79 votes.
How many votes did Max get?

Charity Fundraising

TARGET £50,000
Event Amount Raised
Sponsored bike rides £ 4,020
Cake stalls £ 958
Car boot sales f 6,502
General donations £11,520

How much more money needs to be raised to reach the
target?

Item Price
Sandwich £ 3.00
Sausage roll £ 2.50
Carton of orange £ 1.25
Bottle of water £ 1.50
Can of lemonade £ 1.00
Apple

Bag of crisps £ 0.50
Chocolate bar £ 0.75

Ebele buys a sandwich, an apple and a bottle of water.
She gives the shopkeeper £10 and receives £4.75 change.
How much did the apple cost?

£5.25 £0.75 £0.25 £1.25

Carter already has £16 in his moneybox. Then for his
birthday he gets £15 from his Gran.
Carter spends £4.50 of his money on sweets.
How much more money does Carter need to save to buy a
computer game costing £44 ?

£17.50 £70.50 £13.00 £8.50

Alice buys 2 identical hair clips.
She pays £5.00 and gets £1.80 change.
How much is a single hair clip?




